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Vyieste diferencialni rovnici

(1) y" — 4y’ + 8y = &' (16) 2" + 5y + 3y = e°.

17 o / _ 2 1 _ / _ _ x
(2) v' — 4y +4y =2 + 22 + 3. (17) " —y' — 12y = 14€".
3) =y +y +12y =" (18) 4" + 4y = cos(x).

(4) y" =2y +y=32"—x —5. (19) o + 2y + 2y = "

(5) y" —y' = cos(z). (20) ¥ + 3y +2y = 2.

(6) v — 2y + 2y = 2* — 2. (21) ¥ — 2y +2y=T7.

(7) y' +5y +6y=e" (22) ¥ — 5y + 6y = sin(z).
(8) y" + 4y + 13y = ™. (23) ¢ — 2 = xe”.

(9) ¥ —y' — 12y = 2°". (24) y" +5y + 4y =5 — 4.
(10) y"” — 6y + 9y = — cos(x). (25) oy — 4y = —2?.

(11) 4y" + 3y —y=1—2°. (26) 3" + y = cos(2x).

(12) ¥ +y — 6y =¢" (27) 2y" + 3y = cos(z).

(13) 29" +3y' +y =3 —=. (28) o + 3y — 4y =4z + 1.
(14) " =2y +y = *. (29) y" + 5y + 4y = 42% — 2z — 1

(15) ¢ — 4y’ +4y =e™". (30) =12y +y' +y = 2> — x — 15.
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(1) y = c1e” sin(2z) 4 coe™* cos(2x) + 3¢ € R.

1
(2) y = c1e*® + coxe®® + 3 (2302 + 8z + 13) , c1,c3 €R.

S5x
€
(3) Yy= Cle_gz + C2e4z - ?, c1,c2 € R.

(4) y =c1e” + core” + 322 + 11z + 11, c1,c0 €R.
(5) y=c1 +ce” — B (sin(z) + cos(z)), c1,c2 €R.
T : T 1 2
(6) y = c1e”sin(z) + co€” cos(z) + 3 (x - 1) , c,c2 €R

1
(7) Y= Cle_zx + 026_31 + ie_aj, c1,C2 € R.

1
(8) y = cie**sin(3x) + c2e”** cos(3x) + ——e*”

2756 Cc1,Co € R.
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(9) Y= Cle_3L + 0264"L - 30 c1,c0 € R.

1
(10) y = c1€** + copwe® + =0 (3sin(z) —4cos(z)), c1,c2 €R.
(11) y = cret 4 cope ™ + 22 + 6z + 25, c1,c0 €R.

xT

(12) y = c1e®® 4 cpe ™3 —e , c1,c0 €R.

N

(13) y= cle 2 fee ™ —x 46, c¢,c0 €R.

(14) y = c1€” + coxe® + e®® 1,00 €R.
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(15) y20162x+c2m62x+%, c1,c2 € R.

X

3z €

(16) yzcle_%+02e_w+l—0, c1,c0 €R.
. e’

(17) y = c1e73% 4 cpe?® — 5 c1,c0 €R.

1
(18) y = ¢y sin(2z) + o cos(2x) + 3 cos(x), ¢1,c0 €R.
. _ 1
(19) y = c1e” “sin(z) + cae” * cos(x) + gem, c1,c0 € R.
—2x —x 1
(20) Yy=cae +coe T+ Z(2$—3), c1,c0 € R.
. 7
(21) y = c1e” sin(x) + coe” cos(z) + 5 Le€R
2x 3x 1 .
(22) y = c1e”" + e’ + 0 (sm(:z:) + cos(:c)) , c1,c0 €R.
(23) y=c1e** +co —we”, c1,c2 €R.
—4x —x 1
(24) y=cre e "+ 5 (5-21), c,0ER

(23;2 n 1) . e,e €R.

x| =

(25) y = c1e** + coe " +

1
(26) y = ¢y sin(z) + ¢ cos(x) — 3 cos(2x), c1,c2 €R.

(27) y=c1 +cae™ % + (sin(z) — 2cos(z)), c1,c2 €R.

U] =

(28) y = C1e_4m +ce® —x—1, c1,c0 €R.

(29) y=cre " +coe ¥ + 22 -~ 32 +3, c1,c0 €R.

(30) y =cire™ T + s + 22 —3x+12, c¢1, 00 €R.



